BSEH Practice Paper (March 2024)

CLASS-12™ (Sr. Secondary) Code: B
Roll No.
ACCOUNTANCY
AR
[Hindi and English medium]
Time Allowed: 3 hours Maximum Marks: 60
NOTE:
o FUAT ARG W 6 37 U 9T A 14 g5 qAT30 yeA Al F

Please make sure that the question paper consists 14 pages and 30 questions printed in it.
o 9% UF A E IR YT 91T I3 Fa¥ H B GaRT IR T & gl Y56 W for@r e =1fge|

The code number on the right side of question paper should be written by the candidate on the
front page of the answer sheet.

o fROY YT FT 3T A T UG 3THN AT (ol Gl G|
Before answering a question, must write its serial number.

o U YA & HHT HIEI &I Teh AT &l |
Attempt all parts of a question together.

3T 3R YRl H Trell Toall/deet o BIS|
Don’t leave blank page/pages in your answer book.
o 3T YA & HAReT 3T Hig M A& & ST 3A: HERISALTER & fod g fod 3o H
T &HIC|
Except the answer booklet, no extra sheet will be provided. Write to the point and do not strike
the written answer.
o GUBTT 39T Vel FAIX RA I W 3T ford|
Candidates must write their roll numbers on the question paper.
o FHULT TR HT IR S & Ugel I AT Y of fob 7T 77 qOT  HET &, WIET & IWedd 50 Har
F S o grar TR A R Seem|
Before answering the questions, ensure that you have been supplied the correct and the complete
question paper. No complaint in this regard, will be entertained after examination.

General Instructions:

1 This question paper comprises two Parts — A and B. There are 30 questions
in thequestion paper. All questions are compulsory.
2 Part A is compulsory for all candidates.

3 Part B has two options i.e. (1) Analysis of Financial Statements and (2)
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Computerized Accounting. You have to attempt only one of the given

options.

4 Question nos. 1 to 10 and 23 — 27 are very short answer type questions carrying
1 mark each.

5. Question nos. 11 - 15and 28 are questions carrying 2 marks each.

6. Question nos. 16 to 20 and 29 are questions carrying 3 markseach.

7. Question nos. 21, 22 and 30 are questions carrying 5 marks each.

8 There is no overall choice. However, an internal choice has been provided in
2 questions of two marks, 2 questions of three marks and all questions of Five
marks.

TIA AT

1. 30 Jo7 97 H gl 19T & - T 3N & 597 g7 A& 30 597 &1 T 797
sifaarr &1

2. T T FH 3FHIGART & forw sifAar 81

3 79T & H &l fawey & wUla (1) AT f@avon &1 faeevor sk
(2) FFGCRIDA iG] 9P a0 T [Ghedl A & Sdcl vh Fl §ol Fel
&1

4. Jo7 F&IT 1 & 10 3R 23 & 27 dleus god &, i & felv 1
A& ERT & 1

5. goT §&gr 11 & 15 3R 28 311 o1 3ok 97 &, g3 & folv 2 3%
freiRRer &1

6. god G&AT 16 & 20 3N 29 &g 31T 97 8, g3 & [v 3 37l FeiRa
&1

7. FoT HE&AT 21, 22 3R 30 &ie 3T 997 &, gcder & felv 5 3 AR &)

8. THIT &7 & Fis 3y g1 &1 grelifa, a 3 & 2 goaf H Al 3l & 2
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1.

go7) H 3 gra 3l & Gt geaf A v IaR# faFeT et fBar arr &

(Accounting for Partnership firms and Companies)
(@ vl 3 Fufaat & /v ' rsd)

On 1% June 2018, a partner Introduced in the firm additional capital T 50,000. In the absence of partnership
deed, on 31% March 2019 he will receive interest: 1
(A)X 3000  (B) Zero (C)X2500 (D)X 1800

1 Sfe7 2018 I T HEER & % 7 250,000 H 3fARerd Golt o@ms | AEigRT Holw & 31319
H 31 AT 2019 & 38 <I1oT A

(313000 (9) =T (@) 22500 (&) %1800

A, B and C are partner sharing profit in the ratio of 1/2:1/4:1/4. New ratio on the retirement of B will be: 1
(A)2:4 (B) 1:2 (©)2:1 (D) 1/4:1/2

A, B 3R C WISIER & ST %%% o 36[Id # T8 dicd 8| B o 3Tehiel IGUT hiel WX 1T
3feTaTd 19

(31)2:4 (&) 1:2 () 2:1 () 1/4:1/2

When a new partner does not bring his share of goodwill in cash, the amount is debited to: 1
(A)Cash A/C (B) Premium A/C

(C) Current account of the new partner (D) Capital Accounts of the old partner

ST AT FWEER 394 ffed Fr warfa Fr Ui s & ST orar o, 38 A Fr sfae
Gles @a & (@) NfEgw @a &
() AT AR & a1 WId A () Rl WIHERT & Yoll Td A

Neha and Pooja are partners. Neha withdrew X 40,000. If the rate of interest is 12% per annum then the
interest on withdrawal will be 1

ﬁaaﬂtt@ﬂ@m%lﬁﬁﬁﬂaoobmm|aﬁmrﬁa¢12%aﬁm%a‘r
30T 9T Tl g |




5. On dissolution, patents appearing in balance sheet are transferred to which account? 1

AT R R 7 R@w 31w 3 & #id F Trd # gTaidRa fomar Jrar g2

6. Give the journal entry to distribute general reserve and profit and loss account balance appearing on the
liability side of balance sheet. 1

Eufa fAawor & aRca 9T & vefda g IO aur 1y gfa @ & oY & [ARer & v
SeTel gfafse sa |

7. Assertion(A): Revaluation account is created on admission of a partner.
Reason (R): It is made to adjust the value of assets and liabilities on the admission of partner so as to show
the true financial position of the firm. 1

(A)Both (A) and (R) are true (R) is a true explanation of (A).
(B)Both (A) and (R) are true but (R) is not a true explanation of (A).
(C)Only (R) is true

(D)Both (A) and (R) are not true.

Assertion(A): GeTe{ediehe] WIAT Ueh HISIGR & Fa 9T ST ATl g
Reason (R): 3¢ HIBIGR & WA W HUAT 3N aR¥cl & Hed & ARG & T S/ r Sren
g e 5 v & T oy Rufa ff@rs s a)

(37) (A) 3R (R) &Il T & (R) (A) T FEN TISIRIOT g

() axt (A) 3R (R) FcT & ofhel (R) (A) FT el TISIRIOT el &
(H) Fad (R) T &

(&) &t (A) 3R (R) | gl &

8. Assertion(A): A company is a legal person that has a separate existence from its members.
Reason (R): A company can contract, it can sue in its own name and it can also be sued by. 1

(A)Both (A) and (R) are true but (R) is not a true explanation of (A).
(B)Both (A) and (R) are true (R) is a true explanation of (A).
(C)Both (A) and (R) are not true.

(D)(R) 1s true but (A) is not true.

Assertion(A): Teh &Usil Teh JeTfeler cafed § o gl 31edcd 38 HeEdl ¥ U gidm ¢ |
Reason (R): Ush hUail 3Ieel Y Hehcll § | TE 37U ATH & Hehe AT Toll Hehell & 3N 38 W o
HHCHT TAIT ST Hehcll g

(31 @t (A) 3R (R) T § Afha (R) (A) T TEY TASERIOT Al &l
(@) (A) AR (R) el &cF & (R) (A) T FET TSI B
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10.

11

12.

13.

(@) &=t (A) 3R (R) TF ET §l

(@) (A) 3T § Wed (R) T ¢ |

Which company cannot invite the public to subscribe for its shares? 1

FisT AT FUAT AT W & WG F & T FAdT A [AATOT 787 & T &2

Interest on debentures is on company's profits. 1
FOT AT 9T ATST Shual & ol W |
. What is zero coupon bond? 2

YT FUA TUIT FIAT g7

Radha and Raman are partners in a firm sharing profits and losses in the ratio of 5:2. capital contributed by
them is X 50,000 and X 20,000. Radha was given salary of ¥ 10,000 and Raman X 7000 per annum. Radha
advanced a loan of X 20,000 to firm without any agreement to rate of interest, while in deed rate of interest
on capital was mentioned as 6% per annum profits for the year are < 29,400. Prepare profit and loss
appropriation account for the year ending 31 march 2016. 2

T 3R THA Toh B A APIER ¢ ST ofrey 3R gl 5:2% Ieqard H Frs A g1 3eTh
GaRT AaTele & 1S Yoll 50,000 3R X 20,000 &1 T I 10,000 AR THT I 27000 T T
ddeT f&ar Srar an| YT A SO &)X W oAl FAStia & 9T wa @ 20,000 F FOT fET,
STafeh fael@ # Joll W AT &X 6% 9T a¥ adrs o &Y, a¥ & fov omer 29,400 71 31 A

2016 T GATCT gt dTel ¥ & AT oy va gl R_faAer @rar 3w S
OR
Fgar

Mention any four items that may appear on the debit side of the capital account of a partner when the
capitals are fluctuating.

AR & Tl Yoll WId gl AT g2 H Ueh HFER & ol WA & sfde gaT & AR foady s
arell fohegl IR HGT T 3eol@ HITAT |

A earns X 1,20,000 as its annual profits, the rate of normal profit being 10%. The assets of the firm
amounted to X 14,40,000 and liabilities to X 4,80,000. Find out the value of goodwill by capitalising method.
2

A 3YeT aTf¥eh STeT & &9 H < 1,20,000 HATAT 8, AHAT 1T S &I 10% &1 B I HYfT
% 14,40,000 A SFERY X 4,80,000 AT YoieioT fafer garT Tl &7 Hed AT ST |
OR
ryar

Name any two factors affecting goodwill of a partnership firm.

Tsh ATGRT B ST T HI IHITAT el dTel Gl Geahl & oATH Jd1sU |
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14. K, L and M are partners sharing profit in the ratio of 3:2:1. They admit N for 1/6th share. It is agreed that M
would retain his original share, calculate the new ratios and sacrificing ratios. 2

K, L 3R M AR § St ofrsdl &l 3:2:1 & 3691 # Sied § | 376l N 1/6 #1197 & faw
wiFaferd fham | 98 WeAfd g8 & M 1 fowd R arelm & @I | AT Jequrd R T
3T AT HIAT |

15. State any two items of deduction that may have to be made from the amount payable to a retiring partner.
2

Feldr 1 Rl & FET @ Seag Y S YaTRIgE WEER B 4T TR @ B S 95 T §]

16. Fill in the missing figures on the following journal entries: 3
P seer SRRt & oo s st
Date | Particulars L.F. | Debit Credit
) )
Equity Share Capital A/C  ................. Dr. 67500

To Equity Share Allotment A/C
To Equity Share First Call A/C
To Share Forfeited A/C
(Being 900 equity share forfeited for non-
payment of allotment and First call money of X
30 and X 20 per share respectively )
BankA/C Dr.
To Equity Share Capital A/C
To Securities Premium Reserve A/C
(Being 900 share were re-issued @ X 90 per
share, X 75 paid up )
Share Forfeited A/C ... Dr. | | -seemeeeeee
To Capital Reserve A/C
(Being the profit on reissue of shares
transferred)

17. A and B share profits and losses in the ratio of 5:2. They have decided to dissolve the firm. Assets and
external liabilities have been transferred to Realisation A/C. Pass the journal entries to affect the following:
(a) Bank Loan of * 12000 is paid off.
(b) “A” was to bear all expenses of realisation for which he is given a commission of X 400.
(c) Deferred Advertisement Expenditure A/C appeared in the book at T 28000. 3

AR B5:2 & 3HeIUTd & 18 3R Bl TTST A &1 3eglel el Pl T A HT hger fonar
g "ufa 3R Ied SAGIRAT I @I A TSR I & 7% &1 Fwfafea & v s
gfafsear ag 1;



18.

19.

20.

(T) 212000 T deh FOT AT AT &
() "T" @ TGl & H WA dEeT HA A TS U 3@ 3400 ST HARME fG2r awm A
() e fa=irdeT saa @rer, Qe # 28000 R fe@mram oy ¢ |

A company purchased assets of book value of X 99,000 from Girish. It was agreed that purchase
consideration be paid by issuing 11% debenture of X 100 each. Assume debentures have been issued

(1) at par (i1) at a premium of 10%.

Give journal entries in the books of company. 3

U hoell o ORI & 299,000 & YEAh Hed H G WAL 58 910 R FAMT g5 & Tlig
FfA®eT T AT X100 TAh & 11% SR STRY ek foham Sirwam| AT of foh B

(i) FAHST 9T (i) 20% NfAIH W I e av g
Ul &I GEhl H Sorel FlaTeeal SIfov|

Amit and Sumit commenced business as partners on 1¥*April 2014. Amit contributed % 40,000 and Sumit %
25,000 as their share of capital. The partners decided to share their profits in the ratio of 2:1. Amit was
entitled to salary of ¥ 6000 per annum interest on capital was to be provided @ 6% per annum. The
drawings of ¥ 4000 was made by Amit and X 8000 was made by Sumit. The profit after providing salary and
interest on Capital were X 12000. draw up the fluctuating capital accounts of the partners. 3

AT R AT 7 1 3 2014 A FPER & § A FGAR YE 61| AT o i & 30
fRE & &7 3 240,000 3R AT & 225,000 FT AeTEET f&AT| AHEGRT o 3er @1er Hr 2:1
% 3eIUTeT # et @ @0 fom) 3ifAd 26000 wfd a¥ & @A @ dce T ghar AT, Iait
W 6% 9id a¥ & &7 § s &A1 ST A1l 4000 T 3807 AT garT AR 8000 Hr
31T AT e@rT fohar T 7| Adel AR Yol W AT Yeled it & dlg arer < 12000 |
SRl & gRad-eld 4o @ dar &Y |

OR 3Ydr

Write the features of partnership.

AT 1 fAa fafgw |

A, B and C are partners in a firm B retires from the firm on 1% January 2015 on the date of his retirement %
66,000 were due to him. It was decided that the payment will be done in three equal yearly instalments
together with interest @ 10% per annum on the unpaid balance, prepare B’s loan account. 3

A B3R CUF s & ABIER § | B, 1 ToAadl 2015 B & Qarfaiga & Sffar §, 3qh Garfgha
I ARG R 3H 66,0008 & Ig A0 foam arm & $arelier ol T arf¥eh fohedt &



21.

forar Smuam, @rer & 3 ddfae AW I o 10% 9 a¥ Fr a3 O =grer off *IT STwem, B T HOT
Grdr darR Y|

A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. On 31 march 2015 their balance
sheet was as follows: 5

Balance Sheet of A,B and C as on 31.3.2015

Liabilities Amount () Assets Amount ()

Creditors 84000 Bank 17000
General Reserve 21000 Debtors 23000
Capitals: Stock 110000
A 60000 Investment 30000
B 40000 Furniture & Fitting 10000
C 20000 120000 Machinery 35000

225000 225000

On the above data D was admitted as a new partner and it was decided that:

(1) The new profit sharing ratio between A, B, C and D will be 2:2:1:1.

(i1) Goodwill of the firm was valued at T 90,000 and D brought his share of goodwill in cash.
(i)  The market value of investment was X 24,000.

(iv)  Machinery will be reduced to X 29,000.

V) A creditor of ¥ 3000 was not likely to claim the amount and hence to be written off.

(vi) D will bring proportionate capital so as to given him 1/6"™ share in the profit of the firm.

prepare revaluation account, partner’s capital account and the balance sheet of the reconstituted firm.

A BIR CTH B # 3:2:1% 3IUIT H o1 dicad aTel ASER A1 31 AT 2015 F 3ofehl Joid
ofic 29 g oA

31.03.2015 T A, B 3R ¢ &1 ufa-faazor

aidea ) a9t (%)
NI’ 84000 ¥ 17000
) CRER 23000
AT F3 21000
‘ Tclh 110000
q‘\Gﬁ:
A 60000 farder 30000
B 40000
C 20000 . 10000
= B 3R e
120000 | FfreT 35000
225000 225000




22.

3WIFd T & YR T 3 I T AT HAEER & FT H ThR fhar ar 3R a8 Ao
forar T o

(i) A, B, C 3R D & e 13T S8 FISAHIOT ATl 2:2:1:1 gIam|

(ii) B3 1 T & HeT 90,000 AT 3R D 39 {EN & €1 v A« 7|
(iii) fder @ SR eI 224,000 1|

(iv) 7L Fr AT Ter 29,000 FT & S|

(v)X3000 & WeIGR GaRT T &1 GIaT el I FHTGAT J81 A7 3R safov 38 de¢ @ #
srer fear amm|

(vi) D 3TTIuTfcieh Yol oTwam oifeh 3§ e & ot # 1/6 fowar fear s @l
JeTe{ediehe] WIell, ASIGR & Yol TIem 3R GAfSd ®a & doig e dar &Y |

OR 3Ydr

Write the difference between Revaluation Account and Realisation Account.

gm—iwichd grd 3R aEell @d & & AR @

N

GG Ltd. Has issued 50000 equity share of X 10 each at a premium of X 2 per share payable with application
money. The incomplete journal entries related to the issue are given below. You are required to complete
these blanks. 5

Sl fafAds & 3mae Uiy & a1y ¢ 9fd W 22 NAIA W 210% 50000 SfFAET A
SR fhT §1 MR & oA @ Fafed 3quT Siefor wiafsedr aer & a1$ g1 3maer 3o Rerd
AT & Q@ T §

Books of GG Ltd.

JOURNAL
Date Particulars L.F. | Debit (%) Credit (%)

2015 | e Dr. | ..
Jan.10 00
(Being amount received on application for 70000 shares @
% 5 per share including premium.)




Jan. 16 | Equity Share Application A/C Dr. | | .
Tooooeeeeees
Toooooooeeees L
Toooooooeeees
Toooooeeeees
(Being transfer of Application money to share capital
securities premium, money refunded for 8000 shares for
rejected applications and balance adjusted towards amount
due on allotment as share were allotted on pro rata basis.)
Jan31. | ...l Dr. | |
To oo
(Being amount due on allotment @ T 4 per share )
Feb.20 | ... Dr. | | .
0 0
(Being balance amount received on allotment)
April | . Dr. | |
01 Tooovveaeees
( Being first and final call money due )
April | ... Dr. | |
20 Call-in-arrears A/C Dr. 1500
To oo
(Being money received on first and final call)
Aug. | .o Dr. | | .
27 To oovvienieaeeee
0 e N
(Being forfeited the shares on which call money was not
received)

OR 3 Ydar

What is subscribed capital? Write the difference between authorized capital and issued capital.

e gl o1 § 2 38 Ioil 3R fAd ool & iR faf@e |

Part—B
HATIT-
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(Analysis of Financial statements)

T ot &1 faeadwor

23. Name any two financial statements of a company.

Teh $YT & ool &l f9ea fdaxolt & A Iarsv|

24. The prescribed form of preparation of statement of profit and loss is given in:

(A)Schedule III part I (B) schedule I part III
(C)schedule III part 1T (D) Table A
omeT gifel faaRoT o fAefRa arew feam g3m ¢
(37) 3TeTHAT 1 7T | (&) 3eTET | T
(&) 3T 1 8T () darferT A
25. Dividend payments are shown under activities in the cash flow statement.

Uehs Farg TqeRor 3 oreTier $fardreT i fham3tt & aea fe@mr Sirar g |

26. Assertion(A): Proprietary ratios measure the long-term solvency of the organization.
Reason (R): Interest cover ratio is a profitable ratio.

(A)Both (A) and (R) are true (R) is a true explanation of (A).

(B) Both (A) and (R) are true but (R) is not a true explanation of (A).
(C) Only (A) is true

(D) Both (A) and (R) are not true.

Assertion(A): FaTTHACT 3Te]dTd FEAT T Ereiehrollel MU &THAT P A § |
Reason(R) : ST 3TEROT 37U Ueh ol$fETdeh 39T & |

(31) (A) 3R (R) Gl A § (R) (A) T HET FISEIEIT g
(&) gt (A) 3R (R) I § e (R) (A) T T TASERIOT AdT &l
(H) hadl (A) T &

(&) gt (A) 3R (R) T Er 8l

27. If current assets are X 600000 and working capital is T 120000 then current ratio will be .

gie =T HFIRIAT 26000008 HR SRTeMer Yot 11200008 o TTe] rdTeT 819

28. Give any two uses of financial statements.
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o lAaRoT & FIS & 39IRT T8 |

29. Current Assets of a company are X 1500000. Its current ratio is 2.5 and liquid ratio is 0.85. calculate current
liabilities, liquid assets and Inventory. 3

Teh U=l T TTe] YT X 1500000 & FHPT ™Te] I 2.58 3R el 36Ul 0.8581 HTe]
SeeTRAt, e YAl 3R gededl AT 0T FY|

OR HAYdr
What is the importance of ratio analysis?
3e1uTel faRANoT T FaT Hged § ?
30. From the following information calculate the amount of cash flows from investing activities: 5
Particulars 31.03.2021 31.03.2022
% %
Plant and Machinery 850000 1000000
Non Current Investment 40000 100000
Land (at cost) 200000 100000

Additional Information:

(1) Depreciation charged on plant and machinery was I 50000.

(i1) Plant and Machinery with a book value of T 60000 was sold for ¥ 40000.
(i11)  Land was sold at a gain of X 60000.

Afaf@a SRy & Aaer afafaear & dJdr gyarg i AT &7 I0ET F1:

Particulars 31.03.2021 31.03.2022
2 2
e 3T A 850000 1000000
40000 100000
I ey der
HA (T 9T ) 200000 100000
JTARFT SATTRRT:

(i) §T 3R FMAY T ST IR™AT HeIgrE 50000 AT
(i) 60000 & g dog aTet Tefic AR FMAL T 40000 A ST I=T7 27|
(i) @ T60000 & TS G ST TS|

OR 3Ydr

What is cash flow statement? Write its four objective.
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Nehs varg faavor 1 87 39 IR 3¢5 faf@u|

Part—-B
(Computerised Accounting)

23. Mention one feature of computerized accounting.

hECGe{Tehl oWichel &l Teh TAATAT SI3T |

C

24. The level tells which database the data is stored in and what is the relationship between them.

TR arar g TF e Sl @1 Sered ¥ TaRd g AR 3% & F1T FeY g |

25. which formula is wrong ?

(A) =(10+15) (B) =(B7*Bl) (C) (B7+14) (D) 14+15
dleT AT T el & ?

(37) =(10+15) (s) =(B7*B1) () (B7+14) (a) 14+15

26. choose the odd one out

(A) password security (B) data audit (C) Data bank (D) data vault
R # T
(3n)uraas fAagReE () ser 3Hifse (H) 3T S (&) 3T dlee

27. Which symbol differentiates the interpretation of the first cell and the last cell?

(A) comma (B) semi-colon (C) stop (D) colon

el &1 g Ygot el 9 INTRY AT & SATEIT & 3eleT fe@rar § ?

(37)rAT () QHA-FIcleT @) farA () et
28. Explain the basis for designing reports in an Access data base.

TFAE 3¢ 98 #H RAE fBAST ded &l 3R FTose |

29. Write any three advantages of manual accounting system of computerized accounting system.

13



HEGN AWlehal JUTEN T A3l AWiehel JUTEN o IS el areT fAf@T |

C

OR 3Ydr

Write a short note on GUI.

GUI WX T& Figieqg feoaoly faf@u |

30. What is the use of database management system.

3T JEY YUTTell & 39T T g ?

OR 3Ydr

What do you understand by spreadsheet? Write the difference between worksheet and workbook.

sl @ 3T FA1 FHSA § | gefie 3R g% g A AR @ |
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